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1. P’Fﬂ\fj.ﬁl;ﬂte-diagﬁm.for an FSM with an i_rw::lt and three outputs x, y, and z. The xyz outputs generate a

sequence called a Gray Code in which exactly one of the three outputs changes from 0 to 1 or from 1 to 0. The
Gray Code sequence that the FSM should output is 000, 010, 011, 001, 101, 111, 110, 100, repeat. The output
should change only on a rising clock ecge and when the input gent = 1. Make the initial state 000.
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2. Using the process for designing a controller, convert the FSM you created in previous problem to a controller,

implementing the controller using a state register and logic gates. %\
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